[image: ]
image1.png
d) 6x=—30

7. Check each student’s work.
Rewrite a correct and complete

algebraic solution where necessary.
a) Student A:
—3x+15=30

b) Student B:
7=1+2n
7-1=1-1+2n
8=12n
5_m
T=73
4=n

n=4

8. Solve each equation.

Verify the solution.
@ 2x+5=-7 b) —x+11=2
O ~9=5+7x d)18=—dx+2

Navid now has §72 in her savings
account. Each week she will save $24.
After how many weeks will Navid have a
total savings of $2887
) Write an equation you can use to
Solve the problem.
b) Solve the equation.
‘When will Navid have $288 in her
savings account?
Q) Verify the solution.





